4  Read the passage and answer the questions.

Kat v )01 €y yug 1Alov duop@V* XEOvov Yo ToALY diétoupev Evdov. EABwV O
€ica0€CeTo AeAovpEVOG Kal o MOAAX ATTa peTa TavTa dteA€x 0, kol Nkev O TV Evdeka
UMNEETNG KAl 0Tag maQ’ avTodV, ‘@ LKATES,” €@r), ‘o0 KATAyVWOOOUAL YE 00D OTEQ
AAAWV KATAY LY VOOK®.

The Martyrdom of Socrates: Plato Phaedo 116b—c
(@) kainv1on &yyuvg nAiov dvopwv (line 1):

(i) what time of day is this?

(b) xoovov ... ékabéCeto AeAovuévog (lines 1-2): pick out and translate the Greek word which
indicates what Socrates has been doing while away from his friends.

(c) xal m?{\@\lé/\%{eq (Im? @_@gs this suggest about how Socrates and his
abion

comp are feeling?

(d) ‘@ Zakarteg ... katayryvwokw’ (lines 3—4): what does the prison guard say to Socrates?

© OCR 2024 Turn over
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Contradictory Responses
When a candidate provides contradictory responses, then no mark should be awarded, even if one of the answers is correct.

Short Answer Questions (requiring only a list by way of a response, usu w\ﬁy one mark per response)

Where candidates are required to provide a set number of sho es then only the set number of responses should be marked. The
response space should be marked from left to right on ea \ then I|ne by line until the required number of r esponses have been considered.
The remaining responses should not then rs will have to apply judgement as to whether a ‘second response’ on a line is a
development of the ‘first response rat bﬂgarate disgr isvr/esponse (The underlying assumption is that the candidate is attempting to hedge
their bets and therefore gettl efit rathgy th ith the question and giving the most relevant/correct responses.)

Short !t%ns (re aegd ';eloped response, worth two or more marks)
If the ¢ tes are required t(p escription of, say, three items or factors and four items or factors are provide d, then mark on a similar basis
—that is downwards (as it is unlikely in this situation that a candidate will provide more than on e response in each section of the response space.)

Longer Answer Questions (requiring a developed response)

Where candidates have provided two (or more) responses to a medium or high tariff question which only required a single (developed) response and
not crossed out the first response, then only the first response should be marked. Examiners will need to apply professional judgement as to whether
the second (or a subsequent) response is a ‘new start’ or simply a poorly expressed continuation of the first response.

6.  Always check the pages (and additional objects if present) at the end of the response in case any answers have been continued there. If the
candidate has continued an answer there, then add an annotation to confirm that the work has been seen.

Check that additional objects have been attached in the right order: this might involve linking, unlinking and then re -linking extra answer pages.
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Annotation

Meaning

Valid style point (8-marker) / AO3 point (10-marker)\ \K

Unclear/dubious point -n\P C

Benefit of doubt Oteba\-‘

Co?sﬂ rfor n“ A A

B—a

bincorrect tra@@n Apb?erpretatlon or factual error
Major'err

3 ?()XH S ||| =

Minor error / SPAG

Harmful addition

Correct / positive mark / additional evidence (10-marker)

Good content point (8-mark & 10-mark question) / 2-mark point in 4-mark AO3 question

Weaker content point (8-mark & 10-mark question) / 1-mark point in 4-mark AO3 question

LSS E]

Omission mark

HA

Harmful addition

£ (highlight)

Harmless addition

BP

Blank Page — this annotation must be used on all blank pages within an answer booklet (structured or
unstructured) and on each page of an additional object where there is no candidate response.

SEEN

Noted but no credit given
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Question Answer Mark Guidance
3 Accept any two points and award up to two marks each. Assess AO3 For full marks, response must include at least one
against point-by-point marking grid below. 4 style point.

content or aspect of literary style, with

relevant and suitably explaine %&X% Greek

1 | expresses a int\b not f ;ﬁrted by
an ap rﬁ‘%mn 0]@1 l@i A

-0
3
fan
v

s or referenée)t
AL !

Point |@@@e

or none are drawn

Answers may include:

amep ael Aéyw ‘What | always say’: ael stresses that this is his
consistent message

oLdEV kavotegov ‘nothing new(er)’: there is nothing different
he wants them to do; ovdev = first of several emphatic
negatives

VH@V avTwv émipeAovpevotl ‘by taking care of yourselves’
they are to look after themselves (ie their souls), thereby
bringing favour / pleasure...

...Kal éuol Kal tolg €uois Kat vutv avtoig ‘to both me and my
interests and yourselves’: polysyndeton, variety of dative
pronouns and repetition/polyptoton of Outv avtoic emphasise
the benefits of ‘self -care’.

ATT’ &V MOUTE, KAV UT) VOV OpoAoyrjonte ‘wWhatever you do,
even if you do not agree now’: kav shows he knows this may
be counter-intuitive at the moment

VU@V .. aUTOV ‘yourselves’: repeated again

apeAnte ‘do not care for’: contrasts with earlier értipeAovuevol

woTmep kat' {xvn ‘as it were in my footsteps’: imagery
strengthens message that they should model their lives on his

2 | expresses a valid point based on a relevant aspet’cd \) A

ameg aet Aéyw, €pn, @ Koltwv, ovdév kavotegov:
OTL VUV avT@V ETTpEAOVEVOL DULELS Kal EOL KAl
TOLG €OLG KAl VULV aUTOLG €V XAQLTL IO OETE ATT
AV TIOTE, KAV UT) VOV OpOAOYT|OTTE" €AV 0& DUWV
HEV VTV apeAnte Kat un "0éAnte womeQ kat’
Ixvn Kata o vov Te elonuéva Kat tor €V o
Eumpoo0ev xoovw (v, ovdE éav TOAAX
OHOAOYT|OTNTE €V TQ TIAQOVTL KL 0PODQX, OVdEV

TIAEOV TTOUOETE.

TRANSLATION SUPPLIED

‘What | always say, Crito,” he said, ‘nothing newer;
that by taking care of yourselves you will do favour to
both me and my interests and yourselves whatever
you do, even if you do not agree now; but if you do
not care for yourselves and are not willing to live as it
were in my footsteps according to the things we

have talked about now and in the past, even if you
make many promises at the present time and

eagerly, you will achieve nothing more.’

Credit ‘emphasis(e)’ as a style point since the word
is not used in the question stem.

9




J292/03

Mark Scheme

June 2024

Question

Answer

Mark

Guidance

Koltwv £t mpotepog éuov ‘even before me’: Crito was

even quicker to break down

ov) 010G T’ NV katéxelv T dakpua ‘he was not able to
hold back his tears’: repetition (t& ddxouva) stresstﬁ

they’re all weeping
¢Eavéorn ‘stood up and went Q‘»tp

flnal position

oM DY g A

15



